EARAZROREIERT — 2 N—XBISY —F 201458818 (&) 4REL#EFN1H

N 5% 3 228A 27 8K ‘ (Xfg] B ‘ [REm] — | & (B) 14000 B
[x&<£] 1 %:1,100,000 @ ~ 2 3#%&:330,000 M ~ 337%&:187,000 @ ~ 4 3% :143,000 @ ~ 5 3 :110,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1lelg|v¥s7E1—7+ 3 ﬁ*"ﬁoﬁ& 1:(3_0).2 4-32-1 [40.0| — | 5 | 41 égﬁzfg G
L:2yY—>b—O— BAXRSITA -7 ik %3
B VT TIT— # 3 | Bl 1:(351).1 9-8-6-6 [39.6| — | 7 | 484 ﬁﬁ;ﬂé (x3#)
R:GSRTLA— BTV Y RINT N shvs
s v = 4t 3 | PRI 1:31.1 -1-1-2 | 411 — 6 472 | TREEET (AN
3177 HINZF 54.0 7€ EAREERE
QAR Th—h B:T5T e ) gm ne
4155 | E1N/ AT 4 3 gﬂﬁ%ﬂﬁ (11:311/.24) 5-5-5-5 | 40.5| — 3 ;1_719) ﬁggi (srFn)
A= 2214 B:xgIARINM1RX EZX 2V K
5 6|1 —ZMZIS=2)L 4 3 ?g_ﬂ(i)lﬁ% 1(/3;;1 6-7-7-7 |40.1| — | 2 | 442 éﬁégg (i##n)
R NTAZT A hFFLa2 02| Fomnas
6 o| NIT Tt LB # 3 Zév‘g**ﬁk 1:(362).5 2444|418 — | 9 | 478 Hgi;%;};ﬁ*_ﬂ)x R
RTHLFUS = BT TILHLR SO POy
7lglg|I—WETF 1Y~ o3 | BEX (11312/27> 3233 |425| — | 4 (4_277) g%z (G )
e A X T AV — BEAXTU—F HFAYREy K
8 NEEEFI R H 3 57%/%»&: 1:(353).6 7-6-8-8 |42.3| — 1 (511; %%g)—ﬁ;ﬁu)
R:T7oa715—51>9 B:Yav/or3— (=N e ]
ol1l1|751LaL—t 3 E%’%’i 1:(3;1).3 8-9-9-9 |42.0| — 8 (3?17) Tg;& (irFn)
L2947 hALE N BiaghTULER Il B
® I—F—@EBIERL
13—4— 7,2,8,9,5,6,4,1,3
Ao=5"= 7,8,9,2,5,4,6,3,1
3T—7— 7,9,8,2,5,3,6,4,1
AT =gr= 9,7,8,2,5,3,6,4,1
[ RN
LW 9 770 | | 74 K 3-9 1,730 | | # = 3-8 2,280 | | 3:=tE 3-7-9 14,820/
# B 9 310H 7-9 990F B 8-3 4,040 EE 9-3-7 85,750
3 340M 3-7 1,580H B = 3-9 5,060
7 320M B H 9-3 8,910

ABICOVWTRDTEEERROODE. TR LIV,



